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LSE-09 

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

December, 2013 

LIFE SCIENCE 

LSE-09 : ANIMAL DIVERSITY-I 

Time : 3 Hours 	 Maximum Marks : 75 

Note : Question no.1 is compulsory. Answer any six questions 
from question no. 2 to 8. 

1. 	(a) Choose the correct answer : 	 1x3=3 

(i) 	Disease caused by Trypanosomacruzi 
is : 

(A) Sleeping sickness 

(B) Amoebiasis 

(C) Chagas disease 

(D) Leishmaniasis 

(ii) Free living flatworms can digest 
food : 

(A) intracellularly 

(B) exclusively extracelluarly 

(C) both intracellularly and 
extracellularly 

(D) by saprophytic means 
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(iii) The human intestinal roundworm 
is : 
(A) Ascaris lumbricoides 
(B) Taenia solium 
(C) Wuchereria bancrofti 
(D) Dracunculus 

(b) Differentiate between : 	 2x2=4 
(i) Ectoparasite and Endoparasite 
(ii) Eye of an insect and cephalopoda 

(c) State whether the following statements are 
True(T) or False(F). 	 1x4=4 
(i) Contractile vacuole is responsible for 

osmaregulation in protozoa. 
(ii) Platyhelminthes are pseudocoelomate 

animals. 
(iii) Chlorocruorins are the respiratory 

pigments found in serpulids. 
(iv) The common name of Papiliodemoleus 

is fruit fly. 
(d) Fill in the blanks : 	 1x4=4 

(i) Maintenance of constancy in the 
internal environment of the organism 
is called 	 

(ii) Mouth parts of moths and butterflies 
are of the 	 type. 

(iii) The excretory organ of Phyllodoce is 

(iv) Schistosoma causes a disease known 
as 
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Z. 	(a) Name the parasite which causes benign 	1 

tertian malaria. 

(b) Describe the life cycle of this parasite with 	8 
the help of flow charts and diagrams. 

(c) Which factor is responsible for malarial 1 

fever ? 

3. (a) With the help of a suitable diagram, explain 	8 

the water vascular system of starfish. 

(b) How is the starfish benefitted by the water 	2 

vascular system ? 

4. (a) Give the scientific and common names of 	3 

any three coleopteran pests that attack 

stored grains. 

(b) Give the scientific names of any three species 	7 
of honey bees. Explain how honey bee 

produces honey from nectar. 

5. (a) What is strobilation ? Giving the example 	6 

of Aurelia, the process of strobilation. 

(b) Name the excretory organ and the 	4 

mechanism of excretion in class insecta. 

Name the excretory product of the terrestrial 

insects. 

6. (a) How do the aquatic molluscs respire ? 	8 

Explain the mechanism with the help of 

suitable neat and well labelled diagrams. 

(b) Give two examples of aquatic molluscs. 	2 
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7. (a) With the help of suitable diagrams, describe 	6 

the life cycle of Obelia (No description is 

required). 

(b) Define the term "Metagenesis". Draw a 	4 
flow chart to explain metagenesis in Obelia. 

8. (a) What are the three different types of 	3 

locomotory structures found in Annelida ? 

Name the various classes of phylum 

Annelida where each one is found. 

(b) Define the term "Osmoregulation". Explain 	7 
this process in fresh water metazoain. 
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(iii) 1-11101 alfq TlYffrzi t : 
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